Al £ 0l &8 AF S H A A

20138 =0lah LESH ASFE ~ AS7E

R M NSRRI EIY D
HHM: PZ2GNI(ME7 MXIBHE D)

Chol: BT ALSH(UXBEE) (=TT
Al . & XNxH . CI2| (S S AL N2 OH EHE =2}
N=73 17,143,579 16,051, 143 1,092,436

& 50,460
Al 17,093,119
NSRRI A 1,980,031 1,741,830 238,201
PE2ENA (M= HXBH ) 1,633,897 1,338,378 295,519
YT A2LSHAXSEEE) 691,040 519,640 171,400
THYR=N 691,040 519,640 171,400
101 1A 4| 48,000 64,426 216,426
04 JI2HMIZ2 2 s+ 48,000 64,426 AN 16,426
O EArztel 2 A" 24,000,000 * 22! 48,000
201 2| 125,520 99,554 25,966
01 At222IHl 125,520 99,554 25,966
O gEt==8H| 45,960
- g8y ABF P2 S 130,000& * 128 1,560
- JI2I1(E=21) 2
6,000& = 20000 = 110 SES 13,200
- HEE=301 &X 1,200,000 » 5044 6,000
- JIZ2J1 =371 20ItH 2=+ & &X
20,000& = 50074 10,000
- 2& AolA 2L = 10,000& * 200K 2,000
- 73 ERE0AN & SES S MA
10,0002 * 180% * 43l 7,200
- 2AXE 4 6,000,000& * 14 6,000
O =&l 7,560
- Ssgael ¥ FEYSR =4
7,0002 = 621 » 15 * 12& 7,560
O 2g8=¢ 72,000
- YA 50,000& = 32! » 115& 17,250
- =&y 50,000& = 3¢ » 365 54,750
202 044l 17,520 16,560 960
01 = LHOYI 17,520 16,560 960
O sgad & FEEE S
20,000& = 521 » 11 » 123 13,200
O ALK& & 20,0008 * 221 » 92 * 123 4,320
203 &2 =& 12,000 12,000 0
03 Al F=XHL=XH| 12,000 12,000 0
O 7 =AM JRFLH|
12,000,000& = 14 12,000
204 M A 13,200 13,200 0
03 SEYREHI 13,200 13,200 0
O Hel& sl 50,000& = 2201 » 123 13,200




A3 AE71E A ASAXHE 0
HH: PYSENA(MST HXNBBD)
YT 2UH X HEFHE) (el &)
= AN L=
AR A I SR(S) - HRAY - BYS e SpnEST
206 M =Hl 150,000 0 150,000
01 M=dl 150,000 0 150,000
O INLYASAALZ S HAMH 22X
HE (11 SHs) 150,000,000& = 1 150,000
307 glztol & 21,600 0 21,600
05 212t E S 21,600 0 21,600
O JH=2J1 A Gt A (1 SHS)
900& * 6,00001 * 42| 21,600
401 AIZHIZL RO 300,000 309,500 29,500
01 Al&HI 300,000 309,500 9,500
O =& 22 2& ol  300,000,000& * 14| 300,000
405 THAHE S ] 3,200 4,400 A1,200
01 N ESHS 3,200 4,400 21,200
O LAY H 3,000,000& * 14 3,000
O &€xa Xt 200,000& * 14 200
= (aHE) 576,266 523,890 52,376
2| H 2SS EH A2 576,266 523,890 52,376
201 YBrHE | 292,216 296,680 N4, 464
01 AR 22 44,216 29,580 14,636
O det=gH| 28,880
- SANA eI 150,000& * 105 1,500
- StEA 2e8E P
450,000& * 2& * 128 10,800
- ADISE 7 1,9008 x 100& » 122 2,280
- LItEH 018 =2 10,000& » 150 1,500
- gldizel === 2,000,000& * 14 2,000
- R34l 9 == 900,000& * 128 10,800
O =&l 4,536
- SAYR =
7,000& * 32! » 92 * 128 2,268
- AZA XY =
7,000& = 32 » 9= * 12 2,268
O gx= 10,800
- FEY YREXNH Y2
00,000& = 1CH * 128 10,800
02 3324t 248,000 267,100 219,100
O 32323 & HMAl 177,800
-HIl 2= 6,500,000& » 123 78,000
- ot 2= 1,000,000& * 128 12,000
- SAJA MBS 4,000,000& » 12 48,000
- AEHS/FUHANE) 288
10,000,000& = 12l 10,000




A= ANEFEH SN AEZXXSE D
i PYR2IAXNIA(MSF WX D)
DB (EAHE) (el &
A2 .24 M2 .S (FH) - HIEAIY - B2 0| Ao HEAT H m=2
P ERINEEE Y]
600,000 * 12& 7,200
- AIOIMPID] (B 242
700,0008 * 12% 8,400
- BAYS 2 AS 23
500,000 * 12& 6,000
- 8oy HIIHA 22
2,000,0002 * 13 2,000
- S| HIIAHAM 22
2,200,000 = 104 2,200
- X (293) FA 28
500,0002 * 49§ = 23| 4,000
O H2H| 4,200
- HMSECHA eyl
1,40090 * 302/ * 100 4,200
O Xtrastl 12,000
- s8% 500,000% * 1CH * 12& 6,000
- SetRt 500,0002 * 104 * 12% 6,000
O A&ZHI KX 54,000
- 228 |Xl&2l(9,716m)
54,000,000 * 14 54,000
202 04| 10,800 9,360 1,440
01 2o b 10,800 9,360 1,440
O A =a
20,0002 * 501 % 92 » 128 10,800
206 X 24| 18,250 27,250 A9,000
01 X2l 18,250 27,250 A9,000
O &= 100,0008 » 205 2,000
O 2y H2H 100,0008 = 205 2,000
O 22z 100,0008 * 20& 2,000
O gcdHIS &0 &L =5
1,500 * 5& » 1,000= 7,500
O XA H2 ¢ M=H
11,0008 » 58 = 50% 2,750
O JIA&H =22 200,000 * 10& 2,000
307 gI2t0l A 46,000 45,000 1,000
05 DIZtRE 2 46,000 45,000 1,000
O Az <= 46,000,000 * 14 46,000
401 Al&HIL 2T 142,000 145,600 A3,600
01 Al&H] 142,000 145,600 A3,600
O HAF Ol012 & BilgtA AX
20,000,00084 * 14l 20,000
O ®J|& HiagAI| DH
90,000,00094 * 14! 90,000




2 1z
2 W

;x—l

29N (ME7 UXEED

D Ee2E(EAE)

SN NSPRHED

AR SN G(E) - MRAY - BYS e
O HAQE E2x(A=250m)
17,000,000& » 14 17,000
O HAU HSZH3 S S AH4ML)
15,000,000& * 14 15,000
405 RHeHE SH| 67,000 0
01 AL =S FH =4I 67,000 0
O Zg deD] 15,000,000& * 1CH 15,000
O olsal Aot 1,000,000& * 404 40,000
O HaEHSAE 25 3,000,000& * 404 12,000
SRN(BESHE) 366,591 294,848
23829 366,591 294,848
201 et | 347,951 189,208
01 At 22|l 208,735 50,735
O get+=8H| 4,375
- HAYXAIAE ATELN S0
35,000,000& * 12.5% 4,375
O =l 3,360
- dE2S4gR FH
7,000& * 421 x 10 * 128 3,360
O gdxt= 201,000
- =280 gz 210,000& * 30CH = 123 75,600
- gy extz 110,000& * 9500 » 123 125,400
02 2322l 139,216 138,473
O 3322 % MA 74,340
- dstESs=(60ME) 5,000,000& * 12& 60,000
- UXEY 3z
30,0002 » 123l « 123 4,320
- SdYSs AFZ201501) 115,0008 * 128 1,380
- MEBIHS(AHUNSE)
600,000& * 13l&d « 123 7,200
- MEIMHZ(R010ALZI| )
120,000& * 13ld » 123 1,440
O A& EBIR XY 64,876
- IPLED| SARNES 318,158,000& = 6% 19,090
- HER3 SANE= 328,960,000 * 6% 19,738
- R 7RAES
1,200,000 * 350CH * 4% 16,800
- 4ETH A2 70,800,000& * 6% 4,248
- FUSAMY WEH 5,000,000& = 14] 5,000
202 ¢4l 8,640 8,640
01 = LHOBI 8,640 8,640
O d2s8ge =2
20,0002 491 = 9 » 123 8,640




42 gS7E A SRS
HHM: PZ2INI(ME7 MXIBHE D)
D HESR(BESHE) (9] &)
Al . &5 X XH CI2l (S = (3] N OH EHE =2}
206 T = 4| 2,000 2,000 0
01 =4l 2,000 2,000 0
O SHNEH 2SI 200,000& * 108 2,000
405 RHoHE S H| 8,000 95,000 A87,000
01 AL =S FH =4I 8,000 95,000 A87,000
O 24010132 1,000,000& * 30H 3,000
O HUEI(EEE 500,000& * 10CH 5,000
2HSIE(MSF? AXBH D) 166,920 219,020 252,100
M HA(2SHSE) 166,920 219,020 A52,100
kel S =N 166,920 219,020 A52,100
201 2| 8,280 8,880 A600
01 At 22|l 8,280 8,880 2600
O Et==EH| 4,500
- RS2dEgA =W 3,0008 * 1,0002 3,000
- 2oMs2s 2A 300& * 58 x 1,000 1,500
O =gl 3,780
- 2HSYS FX
7,000& = 3¢ » 15 » 12& 3,780
202 oddl 8,640 8,640 0
01 =LA YI 8,640 8,640 0
O 2! 8,640
- Mg a SXIEel ¥ NEHs
20,0002 = 32 » 122 » 123 8,640
401 A& HIZL 2 OHYI 150,000 200,000 250,000
01 A& I 150,000 200,000 250,000
O SUINMSAE SXE(20002)
100,000,000& * 14 100,000
O S ACIESXE(SR1ItWY) B4(A=33
om') 50,000,000& = 14 50,000
HERAAH (A= AXBHD) 179,214 184,432 Ab,218
oA A 91,834 87,160 4,674
ol 2| 91,834 87,160 4,674
101 2124 4| 91,834 87,160 4,674
01 2= 91,834 87,160 4,674
O N2tel2esd
8,476 * 57AI2t » 0.72 » 22% « 123 91,834
Jl2ZHl 87,380 97,272 A9,892
Jl=&Hl 87,380 97,272 29,892
201 er2dd| 49,980 60,672 210,692




R SN NEITABIZD
Mo @HEIBUI(NSD HAEID)
: JI2ZHl (el &3
Al . G NI . C}2 (5 S ALA N2 OH HEE =2}
01 AtS22t2| bl 19,980 24,672 AN4,692
O ersg| 16,080
- SN2 AREE S 7Y
1,100,000& » 123 13,200
-2 2 X 2=
15,000& = 168 » 123 2,880
O =2&tl 3,360
- SotAtE HRFA
7,000& = 501 « 8 » 12& 3,360
O gdxt=s 540
- &0 A=z 45,0002 = 123 540
02 323l 30,000 36,000 6,000
O 3223 % WAl 30,000
- RERS 2,500,000& = 12& 30,000
203 JRF&d| 30,600 30,600 0
01 J| 2#2HYRF&HI 26,400 26,400 0
O 7EE 26,400,000 » 14 26,400
04 RN2ZLSZ=LHI 4,200 4,200 0
O M= XXI#F (300! 0latH)
350,000& * 12& 4,200
204 XD HAY| 6,000 6,000 0
01 ¥ G HRHAH| 6,000 6,000 0
O &% 400,000& = 121 = 12& 4,800
O W& 100,000& = 121 = 123 1,200
405 RHoHE S| 800 0 800
01 AL ESFH S| 800 0 800
O =Zgd 400,000 = 2CH 800




Al = 0l & A & E Al

A

a2 N=TE SN HSTLRTED
B DIQMEAHANST QXD
Chol: DIRIME(QIAMEE) (B9 m e
Al . G NI . C}2 (5 S ALA N2 OH HEL =2}
M= 2 X =1t 546,376 599,451 A53,075
QIS EMHIA (M= AURXED 223,245 232,835 A9,590
DI (QIAHHE) 125,457 136,631 A11,174
Sl R RS 125,457 136,631 A11,174
101 el 4| 12,703 11,979 724
04 JIZtHIZ 2 S E 12,703 11,979 724
O NHHAHEE X 12,703
-J=2= 38,880& * 27 * 121 » 113 11,548
- 4B = 11,548,000& = 10% 1,155
201 LBHEE| 65,584 60,652 4,932
01 At 22l I 34,060 31,060 3,000
O Et==EH| 29,020
- QR NAH A 5,000& * 50& * 108 2,500
- QA ZE A 200,000& 128 2,400
- S0l0IAYD)| ADE 7Y
100,000& * 12CH = 12& 14,400
- SolpEwZ)| DESEE HX44E
330,000& * 1204 3,960
- EE0RE3)| ARE Y
120,000 * 400 = 123 5,760
O Sl 5,040
L e
7,0002 * 621 » 10 * 12& 5,040
02 32l 31,524 29,592 1,932
O AM&ZHIRsXL 28,524
- RolplAESII 161,000& * 12CH = 12& 23,184
- 2oDIAWTI| FYALA Lo
165,000& * 100 = 123 1,980
- SEURALSTI 70,0002 = 401 = 12& 3,360
O 332 & HMAl 3,000
- SHSHI (DR A) &2 4
3,000,000& * 13 3,000
202 (4l 11,520 9,600 1,920
01 =LHO Y] 11,520 9,600 1,920
O 2IdE gRFa
20,000& = 621 » 8% » 12 11,520
203 JRF&d| 1,000 0 1,000
03 Al FX AR =Y 1,000 0 1,000
O QIAHF AHF2 1,000,000& * 14 1,000
204 R4 HAY| 14,400 14,400 0
03 SEYRAHI 14,400 14,400 0
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N SN AEDOIETIND
X‘IiH: IlX—IoHI‘I/\-“:”A(-IE" |_°‘:|X|E||_ﬂ|>)
ool NE22(KE22E) (Ehel &)
Al . & XNxH . CI2| (S S AL N2 OH EHE =2}
~ARMEAZAZES Aol BA+g
70,000& = 10¢! * 33 2,100
O =gl 4,032
- NRoAR 2
7,000& * 401 » 12& « 12& 4,032
02 332l 8,000 8,000 0
O AM&ZHIRXH 8,000
- NHQFAAAE  1,000,0008 « 35 * 12/ 3,000
- NESEEH 500,000& * 48 * 13l 2,000
- 224 1,000,000 * 1CH 1,000
- 25 (NEAML)  1,000,0008 * 23 2,000
202 044l 11,400 9,720 1,680
01 2 LHAHI 11,400 9,720 1,680
O NHYD U AS 28
50,000& = 3¢ » 123] 1,800
O gZgd EXXN=sEHE, g8, NEHUASX
el 20,000& = 421 » 10 ~ 123 9,600
INESFSESR=: JONESFSISAS ) 85,546 87,610 A2,064
NHEE2Y 85,546 87,610 22,064
201 2| 34,846 26,010 8,836
01 At222IHl 29,946 24,010 5,936
O Lt=8H| 26,250
- ANXZAN BRE(A2E) 6,000&8 * 1,20004 7,200
- NEZAN BRE(ME) 5002 * 36,00004 18,000
- Y28 XH(YHE AEPY
350,000& * 3& 1,050
O =gl 3,696
- SYIIER U SIIEE Y2E
7,0003 * 421 « 11 « 128 3,696
02 3322l 4,900 2,000 2,900
O AM&ZBIRXH 4,900
- NHTH APAAY SXLL
300,000& * 13CH 3,900
- NEHLAZN AMAYE SRES
1,000,000 * 1CH 1,000
202 044l 11,100 9,600 1,500
01 =LHOAYI 11,100 9,600 1,500
O SEIEE LHZA S Z=0l
20,000& * 321 = 153 = 9 8,100
O 27AEQ =Itas =3
50,000& = 2¢! * 302l 3,000
403 XX SHHSH=01H 39,600 0 39,600
02 SJ1 2SOl CHEHCH & A I 39,600 0 39,600




Az N2 SA NSTOIRRR D
M NHHZIMEIA(MER CIAX A D)
el NEEPSA(NRELE) (el Ee)
A 2N ZH . SR(EH) - MRAY - BAS 0fl &+ e jmE=T
O NEZAHEHl At CHEEHI
49,5002 * 800& = 39,600
EXZe(Rsar2elg) 74,379 97,857 N23,478
EXlzel 14,154 25,117 210,963
201 2| 5,994 4,986 1,008
01 At 22l HI 5,274 4,266 1,008
O gEt==8H| 2,250
- 2SM4EMY AEH L EEZZ2 ME
5,000& * 20074 1,000
- AUADE AEAA
5,000& = 503 * 53 1,250
O =gl 3,024
- EXlz2tel HRFE SAH|
7,000& * 321 « 12 « 128 3,024
02 2222l 720 720 0
O 3323% HA 720
- AXEADYR w503
300& * 2000# = 12& 720
202 (dHl 8,160 8,160 0
01 =LA YI 8,160 8,160 0
O BEsdaiald 2HEY JX A
20,000& = 221 = 10 = 12& 4,800
O 2S4S L NS L SEHD X
XA 20,0002 = 201 = 7 » 123 3,360
HE S AIXI It 60,225 72,740 212,515
201 LBl 53,745 66,260 212,515
01 At22t2| bl 52,860 56,260 A3,400
O Let=gH| 49,500
- HESAIXI S22
33,000,000& = 14 33,000
S TOHIEY AE HECH 5A44E
15,000& * 1, 10004 16,500
O =&l 3,360
- HESAIXIL HRFE SEH|
7,000& * 401 » 10 » 12 3,360
02 2322l 885 10,000 A9,115
O 3322 % MA 885
- HESAXI 2ESXNE 25 RS
1,770& » 50024 885
202 oddl 6,480 6,480 0
01 =LA YI 6,480 6,480 0
O HEBARI EXNSHEZA
20,0003 = 321 = 9 * 12& 6,480




AR N2PE SN HETRIATED
B WYSYAH(HED AAXND)
chol: olet2 | (ool e
Al . & XNxH . CI2| (S S AL N2 OH EHE =2}
HH2HAL(ME7 L= 107,914 133,005 225,091
2| 91,834 99,045 AT,211
el 2| 91,834 99,045 AT, 211
101 @244 91,834 99,045 AT, 211
01 2= 91,834 99,045 AT, 21
O AZelpeay
8,4763 * 57AI2t » 0.72 » 22H » 123 91,834
Jl=Z 16,080 33,960 A17,880
Jl=&Hl 16,080 33,960 17,880
201 et 10,680 28,560 A17,880
01 At 22l 10,680 28,560 217,880
O gt 10,680
- SALZX 25,0003 = 10=FA * 12 3,000
- MNEES 250,000& * 128 3,000
- 2RSS 15,0008 » 105 » 123 1,800
- QMR 200,000& * 128 2,400
- 30 ZXB 40,0008 = 12 480
203 =4l 4,200 4,200 0
04 FAEEERFLH| 4,200 4,200 0
O M=7 XX DH(3021015t)
350,000& * 128 4,200
204 MR 1,200 1,200 0
01 RXSH R+ 1,200 1,200 0
O & 100,000& = 11 = 123 1,200




= A
Al £ Ol & AF S E Al A
AR M= SA  ASRHLD
Yo HTANSHFLS(NETD HM2D)
Cel: NLHESS(MRHEE) (ero: @
= - AN L=
122N HE - SR(S) - MRAY - BES 0fl &+ e jmE=T
NSNS 816,907 790,128 26,779
HEANSBFHASE(MST NRD) 665,010 659,275 5,735
NEME2S (MR E) 112,286 127,300 A 15,014
NET Rt 112,286 127,300 ~15,014
201 YErE | 66,286 86,500 £20,214
01 AL2- 221 bl 19,890 39,830 £19,940
O getsgH| 14,850
- XA A% 2 BAE 120,008 * 102 1,200
- XYM e By 50,0008 * 353 1,750
- DETRED| ¥ 28I 2RASE(11B)
5,000,000& * 1CH 5,000
- Mo+ DXIA 70,0008 * 702 A 4,900
- HRA 2 24+E SUAN BXQ 35
500,000& * 45 2,000
O Sl 5,040
- HBge F& 70008 * 691 * 120 5,040
02 2z 46,396 46,670 ~274
O ZTZ2YH % HMAl 41,396
- MREA EXIE RERI(SI)
1,908 * 7021 * 128 1,596
- N2 AEIA, TSOIH L A I
oS 228 MNLH ME L LBRI
2803 * 80,0004 * 13 22,400
- #3323 =2 INRE R ¢ 2He3
2909 * 5,000 * 128 17,400
O xhardety| 5,000
- AgKRA2eldl  2,500,0008 * 2CH 14 5,000
202 01t 15,000 12,000 3,000
01 =40 15,000 12,000 3,000
O MBS &3 HH(52,5)
50,000& = 621 « 10 3,000
O HEY2Ea 20,0008 * 69! * 1002 12,000
203 P =T 1,000 0 1,000
03 Al =X H S =AY 1,000 0 1,000
O M2#s Az 1,000,008 * 11 1,000
204 R4 A 30,000 28,800 1,200
03 SHYL A 30,000 28,800 1,200
O NMREFSRE 100,000& * 2591 * 12 30,000
SHRRHES(ZHIE) 48,800 45,050 3,750
EYE SRS 48,800 45,050 3,750
201 L2 | 36,800 34,050 2,750




M= NE2E A L AETHRD
HH: MENSBZAS(N2T NS
¢ SHRLES(ZHE) (chel: =@
- X L=
A 2N BB B(3H) - MRAY - B 0fl &+ e jmE=T
01 AtS22t2| bl 20,000 19,050 950
O wersg| 15,800
- FSH MDA (T, 2A12)
70,0003 = 802fA 5,600
- HSH ADER A4
10,000& * 15 * 150& 1,500
- SEHGN(SE2,Ha2) EN2XA
50,0002 » 80 A 4,000
- SEUHSMN(EIIZHEAM) EMOXIA
70,000& = 308fA 2,100
- FSMH AL Y ZHOHAZ M
10,000& = 1& = 100& 1,000
- SEHSMN(EIIZ Hol2)8E ¢ gRot
W E2SMH 80,0002 * 200024 = 13l 1,600
O =&l 4,200
- CSHERFA 7,000& = 521 » 120 4,200
02 222l 16,800 15,000 1,800
O 3323 2 HMAl 16,800
- SHDXM(FHSH, SEHAM, XILXHE Al
SHS)LUHRLS 16,800
280& * 5,0008 * 12&
202 oddl 12,000 11,000 1,000
01 =LHOGYI 12,000 11,000 1,000
O ZHgeFzd 20,000 = 521 = 120 12,000
AMAMSDE 2= (AME) 142,900 138,485 4,415
AN E 142,900 138,485 4,415
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- ME0IatE QIMHl § 2003 * 5,000 1,000
O =4 2,800
- S22 HYgs 200,000& * 142! 2,800
O =&l 5,250
- E2FHIER =& 7,0008 » 521 « 150 5,250
O gxz 36,000
- MExY dEEH(158) Xt
600,000& * 4CH = 152 36,000
02 SS=3H 86,500 93,400 26,900
O 2223 2 HA 15,000
- 0sdates 100,000& = 404 » 123 4,800
- C22SAEIARY, MEXEHE AR
= 550,000& * 12 6,600
- CRELABIASA JjA23
200,000& = 12 2,400




A= N=2E SN HETALDSD
M 2SR (NSTALDED)
gel: S2HU(=2FHIE) (el &)
Al . & XNxH . CI2| (S S AL N2 OH @‘.—jE =2}
- CEoad HEANRA 5o
100,000& * 128 1,200
O AM&ZHIsX 41,500
- N&&H &42ZJ, ug| sx2el
5,000,000& * 38 15,000
- MBOIAXY U FH KXl S
2,000,000& « 8CH 16,000
- &4l 7FHl 3,500,000& « 3CH 10,500
O Xrgtd el 30,000
- Xg 2 FHHl RFH 2,500,000 * 123 30,000
202 44l 14,400 14,400 0
01 =LHOYI 14,400 14,400 0
O MEblaXe € AMEsS2He S
0,000& = 5Q1 » 12 » 123 14,400
206 =4l 196,000 191,210 4,790
01 M= dl 196,000 191,210 4,790
O gszs 250,000& * 180& 45,000
O dgg 100,000 * 300& 30,000
O 24 & & 25,000& * 400m 10,000
O ZcHEAES O 2203 = 50,000& 11,000
O E22188+8 0t&aE 72,0004 * 1,000& 72,000
O E2SE+E ZUotAZ
13,0002 * 1,000% 13,000
O E2USE+E ANNHE 2 E=2 S
15,000,000& * 14 15,000
305 =S 10,000 10,000 0
01 HH& =S 10,000 10,000 0
O E20& S0l 28 T4
10,000,000& * 14 10,000
401 Al EHIZ 2 0Hb] 20,000 20,000 0
01 Al&HI 20,000 20,000 0
O 22+ HII=S Hel EY
20,000,000& = 14 20,000
405 HoHE S| 13,700 73,200 A59,500
01 AL ESFSHI 13,700 73,200 259,500
O E2HEZHNE IAS(HEIHE)
1,500,000& = 3CH 4,500
O NE28EAE DYERD]
6,000,000&  1CH 6,000
O == Wl=2I 400,000& * 8CH 3,200
S22 EHIAIZ 2 1,505,880 1,424,400 81,480
201 Bt A 145,880 144,400 1,480
01 At 22/l 1,320 1,200 120




A2 NEREH SN AEIRALENSY
M CRUAESHUR|(MSTALDED)
e CTR2AH(E2AHIE) (el &2
Al (=] P Cl2 (S = H M= OH EHE =2}
O Lt=2H] 1,320
- C2F22 DXNAMME 3008 * 4,40004 1,320
02 2229 144,560 143,200 1,360
O 2222 % HA 104,360
- TRFE22 DIALS 2EeZ
1,900 * 4,4000H 8,360
- Xate 2 |NAIIRSE
5,000,0002 * 128 60,000
- SANUED EEEN sAIHIQS
3,000,0002 * 12% 36,000
O A& ZH| S X 40,200
- XStE 1A SNES(MP EHY BEZD
HS) 3,000,0002 * 11JH2A 33,000
- SNoED, 2YsD 5240 |2
600,000 * 128 7,200
307 QI2H0| A 5,000 15,000 210,000
05 QIZ2H2IEr S 5,000 15,000 A 10,000
O ER2AEE )2
5,000,0002 * 14l 5,000
401 AlEHIL 2 THYI 1,355,000 1,265,000 90,000
01 Al&H] 1,350,000 1,260,000 90,000
O T URNEHETZE 22 AHA=70.3a)
200,000,000 * 1A 200,000
O ZTAHEC2UARESHMN 2T 2 AHA=1191a)
300,000,000 = 14! 300,000
O SNELBAHSHSWA4MA)
120,000,000 * 14l 120,000
O Xot=24+2AHSEEXBIE2A3MA)
100,000,000 * 1Al 100,000
O NEBLBAHSII DR 11IHA)
150,000,000 * 1Al 150,000
O T2 AA 24 X2 AHL=700m)
150,000,000 * 1Al 150,000
O E2RESE 42U T M AH(L=500m)
130,000,000 * 14!l 130,000
O HEsSE =T 24121 & 2 AHL=250m, D=1,00
Omm) 150,000,000 * 1Al 150,000
O MEHRH N HEZ2EHIAMY (Z2EN)
50,000,000 14l 50,000
03 Al& S HH 5,000 5,000 0
O SR2AAESFH|IALY 5,000,0008 * 14l 5,000
THATHH M (M ERAL NE D) 321,620 308, 118 13,502
THLHEETH O EE 2 2H2| (RHLHEETHED) 321,620 308, 118 13,502
XH e ol ek 2te) 321,620 308,118 13,502
201 LBt H | 98,120 91,328 6,792




P AERE
CIHE TSRO (M S A
DOTHE R QI ekl e ] (R

o - A L=
SN B ERA(S) - MRAE - BES e HIDEY
01 At 2t 58,620 57,068 1,552
O get=gH| 10,600
- YR WF g3 600,000& * 33l 1,800
- YR WS K& 100& * 10,0000H 1,000
- HABIN MO|QEBE @SSR
650,000& * 12& 7,800
O 2zl 2,520
- THOHCH® S D19 YR =X
7,000& * 32! = 102 = 12& 2,520
O gz 45,500
- Mo sSS =+ s3I
400,000& = 10CH » 10 40,000
- =8O HIa2 ST 5,500,0008 * 14 5,500
02 SS=gH 39,500 34,260 5,240
O 2223 2 MAl 16,800
- =82 &)= 1,000,000& * 122 12,000
- HadgsAe ks
50,0002 = 84 = 123 4,800
O A€ &HI=AXb 22,700
- == %= 2,000,000& * 9K 18,000
- HlaZ %A 22 300,0008 * 9HA 2,700
- HIAE2AA B
1,000,000 = 292 2,000
202 04H| 10,800 7,200 3,600
01 2LHOTHI 10,800 7,200 3,600
O Ml & s
20,0003 = 32 = 15& = 123 10,800
206 MHZ I 10,700 13,200 A2,500
01 M= 10,700 13,200 A2,500
O =M 8,200
- E2E 22,000& = 1002 2,200
- =HOHH 15,0002 = 4000H 6,000
O orge g 2 5,000 » 50074 2,500
401 A2 H 22 0HY| 202,000 191,000 11,000
01 Al & H] 200,000 190,000 10,000
O Mooy & woisSA
200,000,000& = 14| 200,000
03 Al2 =i 2,000 1,000 1,000
O Mooy & 2ess8s8s7 At
2,000,000& * 14 2,000
HHS AL (METALDED) 198,119 191,173 6.946
el =gl 174,429 163,693 10,736




a2 N=7E SN HETALDSD
B WHSARY (MEPALDED)
ol ol 2oy (che @2
RN FB . G(SH) - HEAY - BES 0f &t e HIDEY
eIE 2 174,429 163,693 10,736
101 12 174,429 163,693 10,736
01 2= 174,429 163,693 10,736
O Aztelz2esg
8,476 = 57AIZH » 0.72 » 38& * 123 158,622
O sg2esd 68,1328 = 2¢1 * 116& 15,807
Jl=Z 23,690 27,480 A3,790
Jlzal 23,690 27,480 A3,790
201 224yl 13,740 22,080 8,340
01 At 2l 13,740 22,080 A8,340
O git=&Hl 13,740
-dEAEE 7Y 750,000& * 12 9,000
- A & AUEFS 15,0008 * 105 * 123 1,800
- g EZ=2 0 (CADian) &
420,000 * 74 2,940
203 R =2d] 4,200 4,200 0
04 NS R 4,200 4,200 0
O NS7 AZWSD(3021015})
350,000& * 12 4,200
204 HPHBH| 1,200 1,200 0
01 Mg R 1,200 1,200 0
O & 100,000& = 1l » 123 1,200
405 Ab&HF SHI 4,550 0 4,550
01 Mt =S F =S 4,550 0 4,550
O ZdIoIdZel 7Y 800,000& = 1CH 800
O 2o s&8Xh 1,500,000& * 14 1,500
O 92Xt 150,000& * 1574 2,250




A = Ol & A &

g Al

A

o
43 N2 SN HETEAAED
M DHKE TAZE(MET TAIASH
Sl CAIMI(SABE) (el @e
Al . & XNxH . CI2| (S S AL N2 OH EHE =2}
NEZEZANASD 2,150,428 1,902,021 248,407
OliXI e SAIZE(MEF SAH=D 2,024,490 1,773,120 251,370
CAEHE(SAISHEE) 1,769,880 1,568,640 201,240
CASEEHSR 1,769,880 1,568,640 201,240
201 2| 716,840 617,440 99,400
01 At222IHl 11,840 11,840 0
O Et==ZH| 7,640
- EXOIEAE &l s 7,640
eIEdl 2le 8
17,6003 = 5004 * 2004 1,760
QIAYZ MA 2,9008 * 1002 * 12 3,480
Qs 81X
20,000& = 102fA « 128 2,400
O =&l 4,200
- JHElel YRFE 7,0008 « 32! x 2002 4,200
02 32l 705,000 605,600 99,400
O 3323 ¥ HAl 700,000
- JI2Eets MIIR3 700,000,000 * 14 700,000
O Xrgd el 5,000
- MHERA2(RFRH S)
5,000,000& = 1CH 5,000
202 044l 15,840 13,200 2,640
01 =LA YI 15,840 13,200 2,640
O Hgde X S
20,0003 = 321 » 10€ » 123 7,200
O J}2EAUS KN4 ALEE
20,000& = 321 » 122 » 123 8,640
203 &R =& 1,000 0 1,000
03 Al =X H I Y| 1,000 0 1,000
O EANHEE AIHFA 1,000,000& = 14 1,000
204 XA | 13,200 0 13,200
03 EZYFAYI 13,200 0 13,200
O Heesyl 50,000& = 2201 * 128 13,200
401 Al EHIZ 2 0Hb] 1,023,000 938,000 85,000
01 Al&HI 1,020,000 935,000 85,000
O NZ2EsS |FANE+ SIHH S
70,000& = 14,000 980,000
O JIzEets ME=F S
2,500,000& 10004 25,000
O FUMSAIEE OFRI=EEI &
15,000,000& * 1JHA 15,000
03 AIE 2 HHI 3,000 3,000 0




AR MEREH 2N NEIRZAASD
Hi: DIHKIE TAXE(MER SAIHME=D)
Sel: TABE(CAIHEE) (&9 @)
Al . & XNxH . CI2| (S S AL N2 OH EHE =2}
| | O JI2EoS RAES 3,000,0008 * 14 3,000
AZHAH (A= IHY) 65,350 76,300 A 10,950
A=0122) 65,350 76,300 210,950
201 L2 A 51,250 50,200 1,050
01 ALRZH2lH 51,250 50,200 1,050
O YetgH| 46,000
- ASAL RO 22 200,0002 * 2003 40,000
- HEQIKASE =2 £42
1,000,0008 * 53] 5,000
- A=HP ML N 100,0002 * 10H 1,000
O 2| 5,250
- AE5I QAAREX
7,000 * 501 x 150 5,250
202 04| 14,000 12,800 1,200
01 2LH0IH| 14,000 12,800 1,200
O ol 14,000
- A DA SHESQ(HIAD, IHEHS
£) 20,0009 * 501 » 0L 6,000
- AELDAD SHESOI(AIRSO AA)
20,0009 * 501 * 80 8,000
301 LBt A2 100 100 0
12 JEtE A2 100 100 0
O R HFHMUIAN s 24
10,000 * 103 100
A= (ASS2LE) 26, 150 31,750 25,600
A==2o 26,150 31,750 A5,600
201 LBt A 14,750 20,350 A5,600
01 At22rell 10,200 13,650 A3,450
O Yprag| 6,000
- AESUE L2 = 6,000,000 * 14! 6,000
O 2| 4,200
- EYAES (T &2 EX
7,0008 * 4901 * 150 4,200
02 2229 4,550 6,700 A2,150
O 2222 2 MA 50
- 2H3IHI (Y2 A) =60 HH A
50,000€! * 13l 50
O A& EHISXH 500
- sess) SN8e 500,0002 * 13l 500
O Xtafsety| 4,000
- AESA22(S2H S)
4,000,000 * 1CH 4,000




2 1z
2 W

P AERE
D DIeHXIE ZAIZA (A
A (HFS AL

SN NEREAASD
=2 SARASD

= = & E
12 2A - B BR(SH) - NRAY - BES el HlRE2
202 (4l 11,400 11,400 0
01 = LHO BI 11,400 11,400 0
O ASSHE NALL X O
20,0003 = 321 » 100 6,000
O 2YARS 8FEs Y XS
0,000& = 32! » 90 5,400
HEHZWH (=48 17,880 16,250 1,630
FHEZ NS 17,880 16,250 1,630
201 2| 6,360 7,250 2890
01 At222/Hl 6,360 7,250 A 890
O =tl 3,360
- EHEBIWLAL E=X 22|
7,000& * 32! * 160 3,360
O Et==ZH| 3,000
- SSFEH2AAN g ME
15,000& * 200& * 13l 3,000
202 044l 11,520 9,000 2,520
01 = LHOYI 11,520 9,000 2,520
O =HAYI 11,520
- SEFHSYWLAY S
20,0002 = 20! = 9 » 123 4,320
- BETY 2HHACS
20,000& = 30! * 4 « 123 2,880
- AMES HER MEHFA S
20,0002 = 20! = 9 » 123 4,320
Zis2el(ZAI0ZE 145,230 80,180 65,050
Zns2el 145,230 80,180 65,050
201 L824l 63,530 48,980 14,550
01 At 22| 13,650 11,300 2,350
O 1=l 750
- SIS UERE =Y
150,000& * 5¢1 * 13l 750
O g2t 5,000
- 2802 A AEA ME S
500& = 5,000& 2,500
- |ATNZ QIR AMEAUHE HE S
500& * 5,000 2,500
O =gl 4,900
- EYZNE NEHs YRET
7,000& = 521 » 140 4,900
O gx=z 3,000
-SHZNE EH ¢ 2N X S
300,000& * 103 3,000




A= N=2E SH ASREAASY
3 01HKE SAZE(MAER SAIH=DH
telr 2022 (ZAIDI2E) (&3 )
Al . & X ZH Ct2| (3 (=] (2] N OH EHE =2
02 322l 49,880 37,680 12,200
O A& HlsX 21,000
- E=00AL E(FX)
3,500,000& * 6IH2 21,000
O 223223 2 WA 22,880
- SYHZNE U558 FldEe
80,000%J * 3EH * 128 2,880
- EYZNE(RS) =AHHIIS XMl
100,000& * 100 10,000
- SgZDh=s(10F) Mol S
100,000& * 10024 10,000
O Xt e| 6,000
- szl (sF-H S)
500,000& * 128 6,000
202 o4l 13,200 13,200 0
01 2L HI 13,200 13,200 0
O &1 A, 50t #Z&ol
20,0003 = 201 = 180 7,200
O =gZius8d AcHS
20,0008 = 3¢ * 100 6,000
206 M= Hl 3,000 3,000 0
01 M=l 3,000 3,000 0
O 2g&1ns ZHE
100,000& * 5& * 62l 3,000
301 LEtE A= 15,000 15,000 0
2IIEENS 15,000 15,000 0
O Eg&1ns =24 1,000& * 15,000 15,000
401 AIEHIZ RO 50,000 0 50,000
01 Al&HI 50,000 0 50,000
O S=2AHAMN && 10,000,000 * 40 A 40,000
O sy X 2,000,000& * 5IHA 10,000
405 XHaHE S 500 0 500
01 &L =SH =8I 500 0 500
O CIXIEJtoict 500,000& * 1CH 500
HE2LIH(MET TAHED) 125,938 128,901 A2,963
2| 96,008 91,121 4,887
el =g 96,008 91,121 4,887
101 1244 96,008 91,121 4,887
01 2= 96,008 91,121 4,887
O ANzte|2esg
8,476& * 57AI2E » 0.72 » 23H * 128 96,008
Jl=3 29,930 37,780 27,850




M= NE2E M HERTAASD
By AH2AAY (MR SAAED)

I (el @2
SN B ERA(S) - MRAE - BES e HIDEY
Jl=&Hl 29,930 37,780 AT,850
201 L Et= & 19,770 32,380 212,610
01 AtS2telH 13,770 32,380 A 18,610

O get+==H 9,810
- SABT S BIARSE
700,000& 123 8,400
- SA(BRSINIPS) L N2RSE
15,0002 * 58 * 123 900
- XIS EE 8503 * 50 « 12 510
O 24l 3,360
PN
7,0002 = 421 = 10 = 12 3,360
O gxz 600
4287l 25,0008 = 204 ~ 123 600
02 SS=3H 6,000 0 6,000
O 2223 2 MAl 6,000
PEUR=S 500,000& = 12 6,000
203 AR =2d] 4,200 4,200 0
04 FME2EERFAH| 4,200 4,200 0
O BN2ILRFEHI(302 015t
350,000& * 12 4,200
204 R HBH| 1,200 1,200 0
01 Mg R 1,200 1,200 0
O & 100,000& = 191 = 123 1,200
405 AH&HF SHI 4,760 0 4,760
01 HatE =S F SH 4,760 0 4,760
O Zetdlold=E el | 2,400,000& = 1CH 2,400
O d&30 500,000& * 1CH 500
O X (eEagE) 180,000& * 54 900
ORI ==3=) 960,000 * 1CH 960




